Alingsas BS

Partavling HCP 2022-05-11

Partavling, 9 bord, 17 par. Antal brickor: 26. Medel: 181.6. Frirond (*) ger egen procent.

Plac  Par Poéng % Namn MID Klubb
1 17 226.9 62.34  Kristina Andersson - Marianne Johansson 83483 60274  Alingsas BS
2 18 223.7 61.45 Iréne Papadopoulos - Lilian Frantzich 13226 36503  Alingsas BS
3 15 217.8 59.83 Henning Kristensen - Karin Johansson 19445 13067  Alingsas BS
4 4 201.6 55.38  Eva Svensson - Gudrun Blixt 49353 49340  Alingsas BS
5 5 194.6 53.46  Cathy Fogelberg - Irene B6ds 49344 49342  Alingsas BS
6 1 193.2 53.07 Lars-Bertil Lund - Britt-Marie Alm 18620 61351  Alingsas BS
7 13 192.8 52.96  Borge Davidsson - Jan-Erik Gustavsson 12757 82593  Alingsas BS
8 11 190.4 52.29 Barbro Térnered - Mona Narkestam 38077 89811  Alingsas BS
9 6 186.9 51.36  Claes-Goran Baversjo - Karin Baversjo 56232 49341  Alingsas BS
10 7 183.3 50.36  Curt Nermark - Tage Blomgvist 55037 81101  Alingsas BS
11 8 174.8 48.02 Karin Lindgren - Lembit Murro 85876 40039  Alingsas BS
12 2 162.6 44.67 UIf-Gdran Andersson - Kent Christiansson 49339 49208  Alingsas BS
13 16 162.2 4455  Lola Johansson-Glante - Gunilla Westerdahl 30892 94081  Alingsas BS
14 3 154.7 4251  Ake Axelsson - Marie Carlsvard 18757 26482  Alingsas BS
15 9 145.7 40.03  Morgan Wiklander - Leif Johansson 1785 5010 Alingsas BS
16 10 140.0 38.45  Gunnel Spetz - Maiken André 3432 43762  Alingsas BS
17 12 136.2 37.42 Barbro Wedell - Monika Morander 37673 93383  Alingsas BS
1 483 Basta kontrakt 2 & DKn95 Basta kontrakt 3 4 KD9 Basta kontrakt
Nord v D65 6¢ O =-920 Ost vE109 44 O =-420 Syd vD10753 54 S D -3-500
Ingen + 1062 NS + Kn32 ov +D5
#109863 & ¢ v o NT #D96 & ¢ v & NT #753 & ¢ v & NT
10 4 EKn654 N21342 4 E1086 4K743 N57 235 41063 42 N2 2687
vK1043  vEKn S21141 vD843  vKKn62 S57 235 vKKn94 vE8 S226187
+ Kng4 ¢ EKD53 O 1112109 11 ¢+ E75 +10 O 8 6 10108 + 86 ¢ KKn10743 O 11117 5 6
#KDKNn74 &2 V 1112109 11 *K2 *E874 V 8 6 10108 #EKn98 #D642 V 11117 5 6
4 KD972 a2 # EKn8754
v 9872 v75 v 62
+97 + KD9864 ¢+ E92
#E5 #Kn1053 «K10
Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang
15 8 6NO-1 4K 50 140 00| 7 4 2¢ S+1 aA 110 140 0017 1 24S+1 8 140 140 0.0
2 10 3¢ O+2 &A -150 120 20| 3 9 4v V-1 4Q 50 100 40| 3 11 24 S= +8 110 11.0 3.0
3 9 560+1 v7 -420 100 40| 5 6 4eV-1 vA 50 100 4.0(16 12 24 S= +8 110 11.0 3.0
12 18 3NV +1l v5 -430 80 6.0(17 13 4v O-1 +¢K 50 100 40| 6 7 34S-1 +8 -50 6.0 8.0
5 6 3INO+2 v7 -460 50 9.0| 2 10 2vV+1 4Q -140 50 9.0| 9 15 24 S-1 +8 -50 6.0 8.0
7 4 3NO+2 v9 -460 50 9012 18 3v O= +K -140 50 9013 18 24 S-1 +8 -50 6.0 8.0
16 11 5NV +1  &T -490 10 13.0|15 8 3vV+l «Q -170 20 120| 4 10 44 S-2 *A -100 1.0 13.0
17 13 3NV +3 v5 -490 1.0 13.0(16 11 3NV+1l &5 -430 0.0 140 8 5 34S-2 +8 -100 1.0 13.0
-1 74| - 1 74| - 2 6.3
4 410652 Basta kontrakt 5 & Kn965 Basta kontrakt 6 41054 Basta kontrakt
Vast vKn4 34 N =140 Nord v Kn652 ANT O =-430 Ost v K10986 64 O =-1430
Alla + Kn94 NS +93 ov + KD
#DKn72 & ¢ v & NT «D102 & ¢ v & NT #Kn74 & ¢ v & NT
4 K9 4 DKn3 N7 489 4 4 E4 4 K10 N525 72 4 KKn962 4 E873 N61611
v 1087 v K63 S7 48094 vK1043 vD8 S42572 vE v DKn2 S61611
+D107632 ¢ EKS8 06 8547 ¢+ K74 ¢+ EKn108652 O 7 118 5 10 ¢ 107652 ¢ EKn3 07 117 1211
2108 *K965 V57547 #Kn987 &E5 vV 7 118 5 10 *K6 *E82 vV 7 117 1211
~ E874 « D8732 D
v ED952 vE97 v 7543
+5 +D 4984
#E43 *K643 #D10953
Par  Kontr ut Res Poang Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang
13 18 24 N+1 ¢A 140 140 0013 16 3¢ O+2 a7 -150 140 00| 9 6 340+3 +¢9 -230 140 0.0
4 10 2v S= &T 110 120 20| 5 11 3¢ O+3 ©vA -170 100 4.0|13 16 44 O= v4 -620 120 2.0
6 7 3NO-1 v9 100 100 40| 7 8 3¢ O+3 a7 -170 100 4.0| 5 11 44 O+1 &5 -650 9.0 5.0
17 1 2¢ V= v] -90 80 6018 1 3¢ O+3 ©vA -170 100 4.0|18 1 44 O+1 ¢4 -650 9.0 5.0
8 5 2vS-1 *7 -100 40 100| 4 12 5¢ O= a7 -400 50 9.0| 4 12 44 O+2 &9 -680 4.0 10.0
9 15 34 S-1 &T -100 40 100(17 2 5¢ O= LY -400 50 90| 7 8 44 0O+2 &9 -680 40 10.0
16 12 2v S-1 *7 -100 40 100 9 6 5¢ O+1 &3 -420 20 12.0|10 15 44 O+2 «Q -680 4.0 10.0
3 11 3NO= v2 -600 0.0 140(10 15 3NV +2 &5 -460 0.0 140(17 2 3NO+3 49 -690 0.0 14.0
- 2 63| - 3 65| - 3 6.5
7 452 Basta kontrakt 8 49863 Basta kontrakt 9 4 EK976 Basta kontrakt
Syd v742 54 V =-650 Vast vE10642 6NT N =990 Nord v3873 5¢v N =450
Alla + KD987 Ingen + K9 ov + KKn2
#1062 & ¢ v & NT »E7 & ¢ v & NT *K7 & ¢ v & NT
4 KKn1063 4 E97 N27 724 4 D75 a2 N 8 11121212 4853 4 D1042 N 8 11111010
v K83 vKn10 S27724 v D98 v Kn53 S 8 11121212 v1096 v DKn S 8 11111010
+6 ¢ E532 O 116 6 117 ¢ Kn7 ¢ 86432 052111 +D76 ¢E9 052232
#D954 #KKn83 vV 116 6 117 #109852 #DKn63 v52111 210852 #Kn9643 V52232
« D84 # EKKn104 4 Kn
v ED965 v K7 v EK542
+ Kn104 + ED105 + 108543
»E7 *K4 *ED
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
8 9 laV+2 v7 -140 140 00| 1 16 64 N= &T 980 120 20| 7 13 4v S= &5 420 120 20
1 16 24 V+2 92 -170 90 50| 6 12 64 S= &T 980 12.0 20| 9 10 4v S= +6 420 120 20
6 12 1a V+3 v2 -170 90 50|15 11 64 S= +J 980 120 20|15 12 4v S= &5 420 120 20
15 11 1a V+3 v2 -170 9.0 50| 5 13 44 S+2 &8 480 80 6.0 4 17 3NN= *4 400 70 7.0
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18 2 1laV+3 v4 -170 90 50|18 2 4v N= a2 420 6.0 80|16 2 3NS= *2 400 70 7.0
5 13 1a V+4 92 -200 3.0 110 3 17 74 S-1 &T -50 20 120| 6 1 3vS= +6 140 4.0 10.0
10 7 1laV+4 w7 -200 3.0 110 8 9 7NS-1 &T -50 20 120|18 3 4vS-1 *2 -50 20 12.0
3 17 44 V+1 92 -650 0.0 140(10 7 5NS-1 *8 -50 20 12011 8 3NS-2 *2 -100 0.0 14.0
- 4 68| - 4 68| - 5 6.5
10 4 D932 Basta kontrakt 11 oE Basta kontrakt 12 & K8642 Basta kontrakt
Ost v Kn9 34 S =140 Syd v EKn72 34V D-1100 Vast v KKn3 5v V =-450
Alla ¢ E7 Ingen + DKn1082 NS + Kn8
#KKn1042 % ¢ v & NT #KKn4 & ¢ v & NT #1062 & ¢ v & NT
874 » Kn65 N9 8595 4K1052 &7 N586 86 a- « ED1053 N3 4255
v 763 v EKD842 S98595 v 63 v D10854 S 48686 vD9862 vE74 S34255
¢ K1054 ¢ Kn3 045847 ¢ K7 ¢ E643 085756 +KD653 ¢ E O 109 117 8
*E98 *73 V45847 #E10853 #D62 V85756 *874 #EKn95 vV 9 8 117 8
» EK10 « DKn98643 & Kn97
v 105 v K9 v 105
+ D9862 495 ¢ 109742
#D65 *97 #KD3
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
18 3 34 N= vA 140 140 0015 13 44 S-1 v6 50 130 10| 7 2 2NV-2 a2 100 120 20
15 12 3v O-1 4A 100 11.0 3.0(17 5 44S-1 *A 50 130 10| 8 1 3NV-2 a4 100 120 20
16 2 2v0-1 4A 100 11.0 30| 7 2 44S-2 *A -100 50 90|15 13 6v V-2 *2 100 120 20
7 13 3¢ S-1 a4 -100 80 60| 8 1 44S-2 v6 -100 50 9.0|17 5 3#0-1 T 50 70 7.0
6 1 2v0O= & A -110 6.0 80|10 11 44 S-2 v6 -100 50 90|18 4 240-1 T 50 70 7.0
4 17 2v O+1 &A -140 3.0 11.0(12 9 44 S-2 v6 -100 50 90|12 9 4v V= +J -420 3.0 11.0
11 8 2vO+1 ¢2 -140 30 110(16 3 44 S-2 *A -100 50 90|16 3 4v V= ¢J -420 3.0 110
9 10 2NS-2 v3 -200 0.0 140(18 4 44 S-2 *8 -100 50 9.0|10 11 4v V+1 ¢J -450 0.0 14.0
- 5 65| 6 - 6.7 6 - 6.7
13 4 K5 Basta kontrakt 14 4 K8 Basta kontrakt 15 4 D109 Basta kontrakt
Nord v D8754 24 O =-110 Ost v EK765 4¢ OD-1100 Syd vKn3 2NTV =-120
Alla + E98 Ingen + EKn4 NS + 8764
#1096 & ¢ v &4 NT #Kn53 % ¢ v &4 NT #ED42 % ¢ v &4 NT
«E982 410763 N4 7756 « Kn4 «E109752 N 9 4 9 5 6 «E873 52 N36 465
vE9 vKn3 S47 757 vD10 v Kn9 S 84956 v K54 v E982 S 36465
¢+ D642 ¢ K5 086585 4109865 ¢ KD32 049376 +9 ¢ EKKn5 096878
#ED8 #75432 V86585 #EK74 26 V49376 #Kn10963 #K87 V96878
« DKn4 D63 & KKn64
v K1062 v 8432 vD1076
+ Kn1073 *7 + D1032
*KKn #D10982 *5
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
8 3 INV-2 v5 200 120 20|13 10 4v N= & A 420 140 00(10 3 2NO= 46 -120 140 0.0
11 12 1INV -2 v7 200 120 20|11 12 3vy N= *6 140 120 2015 2 2v O+1 &5 -140 120 2.0
16 4 INV-2 v4 200 120 20| 8 3 340-2 7 100 100 40| 6 18 2NO+1 3 -150 10.0 4.0
9 2 3vN= 43 140 70 7.0]|16 4 INN-= 45 90 80 6.0(17 7 INO+3 4 -180 8.0 6.0
13 10 3v S= *A 140 70 70| 9 2 340-1 7 50 40 100| 1 11 2NO+3 3 -210 50 9.0
17 6 INS+1 49 120 40 100(15 1 34 0-1 7 50 40 100 9 4 2NO+3 2 -210 50 9.0
5 18 2v N= 46 110 10 13.0|17 6 24 0-1 v4 50 40 100(16 5 2NO+4 2 -240 2.0 12.0
15 1 2vS= +4 110 1.0 13.0| 5 18 2NN-1 &2 -50 0.0 140(12 13 3NO+2 3 -460 0.0 14.0
7 - 8.3 7 - 8.3 - 8 7.0
16 4D Basta kontrakt 17 4 K76532 Basta kontrakt 18 4 DKn95 Basta kontrakt
Vast vE76 2NT N =120 Nord vE1072 4v N =420 Ost vEDS8 3NT S =600
oV + Kn1073 Ingen + K65 NS + KD10
#E10762 & ¢ v & NT *- & ¢ v & NT *KKn4 & ¢ v & NT
+ 1076 » EK954 N9 87 58 «DKn98 410 N 6 8 109 8 a2 « E1043 N767909
v 109852 vKn S88758 v43 v D65 S 6 7 109 8 vKnl06 v7432 S76799
+84 ¢ KD92 045584 +43 ¢EKn1082 O 7 5 3 4 5 ¢E975 +864 06 5544
*«KD3 #854 V45584 #75432 #EKKn6 V75345 #D9852 #E7 V65544
& Kn832 aE4 & K876
vKD43 v KKn98 v K95
+ E65 + D97 ¢ Kn32
#Kn9 #D1098 #1063
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
15 2 34DO-3 #J 800 140 00|17 8 5¢DO-5 «A 1100 140 00|17 8 3NN= a4 600 14.0 0.0
17 7 2v S+1 46 140 120 20| 3 15 4y S= ¢4 420 120 20|11 4 INN+3 3 180 11.0 3.0
12 13 24 O-1 vK 100 100 40|11 4 3NS= *4 400 100 4.0(13 1 INN+3 #4 180 110 3.0
16 5 14 0= v3 -80 80 6.0(16 6 34 N+1 +A 170 80 6.0(16 6 34 N+1 #A 170 8.0 6.0
1 11 3vS- a7 -100 6.0 80|10 5 34 N= *A 140 6.0 80| 2 12 34 S= *8 140 50 9.0
10 3 24 0= *J -110 4.0 100 2 12 4vy N-2 #A -100 30 11.0|18 7 34 N= *A 140 50 9.0
6 18 24 O+1 &J -140 20 12018 7 44 N-2 #K -100 3.0 11.0| 3 15 44 N-1  #A -100 2.0 12.0
9 4 3vS-3 46 -150 0.0 140(13 1 4vS-3 ¢4 -150 0.0 140(10 5 44 N-2 #A -200 0.0 14.0
- 8 701 - 9 66 - 9 6.6
19 4 Kn10974 Basta kontrakt 20 4875 Basta kontrakt 21 4 EDKn3 Basta kontrakt
Syd v Kn6 34 S =140 Vast vE104 34 V =-140 Nord vE5 3¢ O =-110
oV + EK65 Alla + D10632 NS ¢E72
*K5 & ¢ v & NT +D6 & ¢ v & NT *E743 & ¢ v & NT
«E853 4D62 N899 9 8 « EKn942 463 N458 36 4102 « K9 N7 4487
vKD v 10542 S899 938 v72 v 86 S45846 vK1032 vDKn96 S7 4487
¢+ D74 4982 054444 ¢E74 ¢ KKn85 098597 +Kn93 ¢ KD865 06 9856
#EKN72 #986 V5444414 *K92 #E10854 V98597 #KKn92 #105 V69856
oK 4 KD10 » 87654
v E9873 v KDKn953 v 874
+ Kn103 +9 + 104
#D1043 #Kn73 »D86
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
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4 15 INV-4 a4 400 140 00| 1 2 29 S+l &2 140 90 50| 8 16 14 N+2 ¢K 140 13.0 1.0
1 2 INV-3 ] 300 11.0 30| 3 13 3v S= aA 140 90 50|15 5 1aN+2 8 140 13.0 1.0
17 9 INV-3 aJ 300 11.0 30| 4 15 2vS+1 ¢4 140 9.0 50| 4 1 1aN+1 +¢Q 110 8.0 6.0
18 8 INV-2 49 200 80 60| 7 16 2¢v S+1 &A 140 90 5012 7 24 N= ¢+ K 110 8.0 6.0
3 13 24 N+1 v4 140 50 9.0(12 5 2¢vS+1 &2 140 90 50|13 6 1a N+1 ¥9 110 8.0 6.0
11 6 3v S= aA 140 50 90|18 8 2vS+1 ¢4 140 90 50|18 9 2NN-1 vQ -100 40 10.0
7 16 24 N= vT 110 20 12017 9 34 V-1 vA 100 20 120 2 3 2¢ O+1 44 -110 2.0 12.0
12 5 INV-1 ] 100 00 140(11 6 3vS-1 ¢ A -100 0.0 14.0|10 17 2¢ O+2 &4 -130 0.0 14.0
- 10 48| - 10 48| - 11 7.3
22 4 Kn5 Basta kontrakt 23 4975 Basta kontrakt 24 « EKD8 Basta kontrakt
Ost vD3 5NTV =-660 Syd v ED5 34 S =140 Vast v K97 6NT N =990
oV + EKn1092 Alla + KD72 Ingen + K87
#KKn92 & ¢ v & NT #K85 & ¢ v & NT #DKn9 & ¢ v & NT
» EK8 41043 N45252 +K « D1084 N49 6 96 4932 aKn754 N 1110121112
vKn9742 v EK105 S45 252 vK632 v984 S496 96 v1086 vE2 S 1110121112
+ K5 + D84 O 8 8 118 10 ¢EKN6 +83 08 3746 ¢ D652 ¢ Kn93 023121
+1084 &ED7 vV 9 8 118 11 #D9742 #E1063 V83747 #832 #10764 V23121
4 D9762 & EKn632 4106
v 86 v Kn107 v DKn543
4763 + 10954 + E104
#653 «Kn #EK5
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
8 16 3vy O+1 &7 -170 13.0 1.0|18 10 3aV-2 2 200 140 00|15 6 6NN= *6 990 140 0.0
15 5 3v O+l 42 -170 13.0 10|13 8 24 S= &7 110 110 30|13 8 6vy S= +5 980 120 2.0
13 6 3NO= a7 -600 10.0 40|15 6 24 S= ¢ A 110 11.0 30| 1 7 3NN+3 &5 490 70 7.0
2 3 4v 0= v6 -620 70 70 3 4 INO-1 a2 100 80 6.0(11 17 3NN+3 &4 490 70 7.0
18 9 4v O= a2 -620 70 7.0 5 2 2¢ N= &6 90 60 80(16 9 3NN+3 #6 490 70 7.0
4 1 4v O+1 &7 -650 20 12011 17 14 S= v3 80 40 10.0(18 10 3NN+3 &7 490 70 7.0
10 17 4v O+1 46 -650 20 120| 1 7 INV= a5 -90 10 13.0| 3 4 4vy S+2 &8 480 1.0 13.0
12 7 49y O+1 3 -650 20 12016 9 2&V= *2 -90 10 13.0| 5 2 4v S+2 2 480 1.0 13.0
- 11 73|12 - 5.2 12 - 5.2
25 & Kn96 Bésta kontrakt 26 4983 Bésta kontrakt
Nord vED75 5¢ N D -3-500 Ost v ED86 3NT O =-600
ov + D963 Alla + D10
+D3 & ¢ v & NT #Kn954 & ¢ v & NT
a7 & EK42 N285765 4Kn54 &ED10 N535514
vKn6432 v¢K S285765 vK53  v1092 S53554
¢+ K2 ¢ Kn54 O 115 7 5 8 ¢ Kn94 ¢ EK863 O 8 107 8 9
#KKn1042 #E9876 V 115 7 5 8 #ED86 4103 vV 8 107 8 9
«D10853 K762
v 1098 vKn74
+ E1087 ¢ 752
»5 *K72
Par Kontr Ut Res Poang Par Kontr Ut Res Poang
1 9 240+3 *T -150 80 60 2 8 2NO= a2 -120 13.0 1.0
4 5 24043 8 -150 80 6.0(17 12 2NO= a2 -120 13.0 1.0
6 3 2640+3 +A -150 80 60 1 9 3¢40+1 v4 -130 80 6.0
15 7 240+3 *T -150 80 60 4 5 3¢V+l 46 -130 8.0 6.0
16 10 3« O +2 +A -150 80 6.0(18 11 3¢ O+1 ¥4 -130 80 6.0
17 12 34 0+2 T -150 80 6.0(15 7 INV+2 +8 -150 4.0 10.0
18 11 24V +3 v8 -150 80 6.0 6 3 3NV+l &5 -630 1.0 13.0
2 8 320+3 &5 -170 0.0 140(16 10 3NO+1 &2 -630 1.0 13.0
13 - 8.2 13 - 8.2
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